A101 L 0.60 0.60 0.60
A102 20.0 20.0 20.0 x

A103 45.9 50.0 50.5 = ) x
Al04 (TOC) 52.5 43.3 41.3 = (ToC) ) x

A105 3.1 0.0 0.0 = ) x

A106 34.0 35.0 35.4 = ) x
A107 0.0 0.0 0.0 = ) x
A108 33.3 30.0 25.4 = ) x 100
A109 — — — maxZ (Xij GVj)

A201 — — _

A202 () 100 2.0 2.0 2.0 () 100 (
A203 100.0 100.0 100.0 5 x 100
A204 96.4 96.4 96.8 ( )x 100

A205 0.0 0.0 0.0 x 100




A301

A302 — — — )x 100
A401 0.0 0.0 0.0 )x 100
B101 0.0 0.0 0.0 x
B102 _ _ _

B103 _ _ _

B104 88.2 88.1 88.2
B105 100.0 99.8 100.0
B106 88.2 88.2 88.2 x
B107 km 49 4.9 48
B108 315 315 315 x
B109 0.1 0.2 0.2 x

B110 6.5 6.7 7.2




B111 93.2 93.0 92.3

B112 90.7 90.6 90.1

B113 0.75 0.75 0.75

B114 314 315 317

B115 0 0 0

B116 93.1 93.2 93.2

B117 100.0 100.0 100.0

B201 — — —

B202 59.4 59.3 59.1

B203 / 196 199 201 [(
B204 100km 5.2 6.9 6.4

B205 100km 0.0 0.0 0.0

B206 100km 2.7 4.4 1.5

B207 100km 6.2 8.0 8.3

B208 1000 4.0 4.8 3.6

B209 0.03 0.05 0.04 > (
B210 5 6 7

B211 km 1.7 1.7 1.7




B301 kwh 0.04 0.04 0.04
B302 MJ 0.41 0.42 0.40

B303 €Oy g CO, 23 23 21 €Oy

B304 0.00 0.00 0.00

B305 — — —

B306 59.4 32.0 36.3

B401 28.8 28.8 288 |I( Ix
B402 0.07 0.09 0.14 /

B501 _ _ _

B502 40.6 34.4 313

B503 47 18.0 28.5

B504 0.40 0.39 0.48

B505 0.000 0.002 0.000




B601 — — _
B602 — — —
B602-2 — — — I( Ix
B603 0.0 0.0 0.0
B604 69.9 69.9 69.9
B605 11.5* 11.9* 12.5%
B606 20.5 24.3 31.3
B606-2 54.8 58.6 65.6
B607 13.6 16.6 20.6
B607-2 29.1 32.1 36.1
B608 100.0 100.0 100.0
B609 66.7 120.0 120.0
B610 11 1.1 1.1
B611 100 1.4 1.4 1.3
B612 1000 0.012 0.013 0.013
B613 1000 0.13 0.13 0.13




C101 83.1 81.8 85.5 [( )%

C102 107.3 106.5 110.6 [( )%

C103 107.3 106.5 110.5

C104 0.0 0.0 0.0 [ 1x

C105 7.2 7.2 7.4

C106 13.0 10.7 4.6

C107 89,999 89,285 97,726

C108 8.9 9.2 7.7

C109 0.6 0.5 0.5

C110 23.6 24.7 25.0

Cl11 2.0 2.1 2.1 x

C112 30.3 28.5 26.6

C113 87.8 86.7 90.8

Cl114 232.4 232.4 232.7

C115 264.6 268.0 256.3 [ )
C116 10 2,041 2,041 2,041

C117 20 4,228 4,228 4,228

C118 1029.3 1134.8 1058.6

C119 93.9 94.3 94.5 [ 1
C120 85.5 85.1 85.0 [ 1x




c121 8.5 8.3 8.4
C122 0.16 0.16 0.15 I( 2]
c123 8 75 75 7.3

C124 3 387,000 384,000 420,000

C125 1000 0.11 0.05 0.05

C126 99.6 99.6 99.1

c127 1000 17.7 16.0 14.3

C201 1.79 1.79 1.79

C202 13.6 13.8 15.6 x

C203 2.8 2.3 1.6 x

C204 48.2 47.4 43.4

C205 22.4 20.1 18.0

C206 0 0 0 T (

C207 0 0 0 T (




C301 100.0 100.0 100.0
C302 — — —
C401 1.5 1.4 1.4
C402 104 119 146
C403 1000 0.19 0.15 0.14
C501 1000 0.00 0.00 0.00
C502 1000 — — —
C503 — — —
C504 1000 1.54 1.33 1.03
C505 1000 0.70 0.53 0.34
C506 1000 0.03 0.06 0.01




